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Derive therme) @FF[ri'eY\Cy Formule, For Remkin

(\/Cle.

Remkin cyele ic wyolking with fouy Proceccec

1) Railey 2) Tuvbine

3)Condencer ) Pump_

Thexrmea| Efficiency of yankin cycle _com be
ob tained by applyimg the <tecd, Flowy

Bailer = Heet is supplied im_bailer cmd 1o wiark

done

Head Supplied Q = h, - hy,

Jurbine =y For reversible adiabatic expangion
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Net worlk output = W- - Wp
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What s an _air standard cbCiciencsy !

Aiy ctandard efficiency is taken as the ideal

eCEiciency of an Internal Combustion engine

Aly ctandard ctficiency (s base on an caly

g ‘ran dan) “ \gc}e
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The wworlking €luid ic homageneous and nao

chemicell Yeciction 4ake place

5()@@[@‘(_ hec £+ ol ciiyr is constant and

falke €5 21.005 KO/kgK amd <y 20218 KS/kg K

The mMass of cir in cvycle 14 €ixed and cycle
s exeqg execuated by Cloged <yctem.

Combusion Pracecs 14 )'éplorec} by equivelent

heca b Fransfey Pracecs .

Exhaqust Pracess 14 replauced by equivelent

heat ye jection

Al Pyacess cre reveyseible

Ay sctan dard EfCiciency

n-. = Warkdane
(@ )

Hee t Supplied

= Qg - AR

A

Relative ECLiciency QV = Actial theymal EEE.

Aly ctundeard EECE

e

o czmen



